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SECTION-A

Choose the correct answer : 1x20=20

(uw Te! AR Cieredr)

If p o q and when p = 6, then q = 30. Now if p=2,
then what is the value of q ?

77 p oo q W% p = 6 TC q = 30, 9 p = 2, (0T
qs T e 2

a) 127%5b)~20 ()l d) 10

How many natural numbers are there between 15% and 16°?
15% Sie 167 S TS (F20! FoIE AT AR?

a) 15 Bl .c) 30 d) 32

Find the value of m such that (=3)™"! x (-3)° = (-3)".
m 3 I e Tt AT (3)™ x (3)° = (3) =2

a) 0 b) 1 c) -1 d) 2

Which of the following is a square of an odd natural

number ?
©ed (P! Bl SPA AL 392
a) 256 b) 169 c) 196 d) 324

If a and b are oo-prime' to each other, then HCF(a, b) = ?
77 ‘a’ W ‘b’ AZCNEE 23, (9% AALE (a, b) = ?
a) a b) b c) | d) 0

P.T.O.
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11.

()

If a possitive interger is divided by 3, the remainders are.
TR @Bl 4RI STAe WYL 3 @ sl T T, SPITREER
23- | -

a) 0,1 b)0,1,2 ¢)0, 1,2,3 d) None («Bre 7=)
If H.C.F(26, 91) = 13, then L.C.M(26,91) is -

2 B 26, 91) = 13 (90T AALB(26, 91) T4 -

a) 182  b) 282 c) 184 d) 284

The shape of the graph 0fy=ax2+bx+c'(a¢0)will
be U’ if - .

y=ax+bx+c@#0) 7 R g U 7 AR -
a) a=b b) a>0 c) a<0 dazb
Sum of the zeroes of the polynomial ax® + bx?+cx—d

1s -

ax® + bx? + cx — d ILMER VRS laiEe 29 -
N R

The product of the zeroes of the polynomial x* — 15 is-
2 — 15 TEAMCOI *FUCIAT 4T TS -

a0 by 15 2ie) S15 . ) V15

If a pair of linear equation is consistent, then the lines
represented by them will be -

o i AR TR A T, (T TS e 7
9 (PR R —

a) Intersecting at one point (<! TS 010 FR)

b) Intersection or coincident (oI 1 A fifeT™ =)
¢) Coincident (e ) d) Parallel (A1)
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3 Thepairofequations2x+3y=5 and 4x + ky = 10 has

infinite number of solution it -

2x + 3y = 5 W% 4x + ky = 10 TR T

<2 A AURF TR -

) k=0 b) k=1 © r=3 . d)y k=6

_ Under what condition, the quadratic equation ax? + bx +

¢ =0 (a # 0) has no real roots 14

s ax® + bx +¢c=0 (a # o) faAI® FATIITH

@I AT I AT ?

a) b*-4ac>0 b) b>-4ac=0

¢) b*—4ac<0 d) b —4dac 20

_ Which of the following is not a quadratic equation -

oo ICH! @bt RIS AP T -

Q) (x=2)*+1=2x73 b) x(x+1) + 8 = (x+2(x-2)

& 0 x@x#3)-x+l D+ 2P =x*-4

" | 15. AABC ~ APQR and if ZA = 800 and £Q = 45°, then
N «C=? -

AABC ~ APQR W% M ZA = 800 =i £Q = 45°

cot% LC =1 i

| 2 55° b)50° 045’ ) 60°

16. Which one of the following is not a similarity criteria of

1 two triangles ?

oo GR!0 farge g R e

a) AAA b) SAS |

c) ASA d) None (461 =)

P.T.O.
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18.

19.

20.

22!

23

(2, 5) I (4, —5) [ ARG (@IS TR I

~ Answer in short : (55 ©&s frait ) | | 1x25=25
21.

4)

The co-ordinates of the mid point of the line segment
joining the points (2, 5) and (4, —5) is -

q’q 7 £
) (3,00 (3,00 ©0,3) G2
The distance of the point (a, b) from the origin iS -
RS A (a, b) RO @9 9 -
V2t b)yVa®+b? c)a’-b* d)a’+b’
The value of 9 tan?60° — 9 sec?60” is -
9 tan’60° — 9 sec?60° 3 T 2 -
a 9 b-9 ¢ 3 d)—g—'
The value c;f 1+ tanze is.
1 + cot“®
9 24 -

1 + tan%0

1+ cot?@iaii s

a) Sec’® b)-1 c) cot’® d)tan’0
- SECTION-B

If n is the degree of the polynomial p(x), then what is the
number of zeroes of p(x) ?

W <51 T2 p(x) I W@l n TH, (ST T2V 1
i 2q 2

1£42025 = 45, theny20.25 = i
T 2025 = 45 (%2025 = ?

If% has a tenninating decimal expansion, then ﬁzhat are
the prime factor of q ?
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< - AT o e g ARG =, (0
B (7 O SeATRER & 292
'ﬂ ,4 Find the smallest number by whichy27 should be
I multiplied so as to get a rational number.
B DR I AT T o¢l SR 9B AR
syl CoAIRT T GAE FRAIO! Sl
15 Express 0.000064 in standard form.
0.000064 3 A FA© AT P41
~ State Euclid's Division Lemma.
z5Rue Roe AR ol
7 Can 6" end with the digit O for any natural number ?
I FSIRE A n I CFRIS 6" FRAMBI 0 SR ¢
2a AEHAL
. If the graph of y = f(x) intersects x-axis at two points,
find the number of zeroes of f(X).
i y = f(x) IO x ST Wo! e (21 0, (90T £(x)
3 *E Y TESA '
. If o, B are the zeroes of p(x) = 4x2 + 3x + 7, then find
mevalueof-é--l_* . g
1% p(x) = 4x2 4 3x + 7 TLWOR T o A= P2,
| o =+ -é- 7 W e 30

30. Under what condition, the pair of linear equations
kx +2y=5and 3x +Y = | has a unique solution ?
ﬁssétskx+2y=5W3x+_y=12€f‘w
eIl 1 TSI I A

P.T.O.
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33.

34.

35.

36.

37,

. Ifx+y=8andx-y= 6, find x and y.

(6)

Mx+y=8SFEx-y=0%%, r—&nyaﬂH
e =1
What is the condition if the roots of the equation X2 + px
+q = 0 are real and unequal ?
X2 + px + q = 0 FAIE I 01 I AF ST
(AR 5! =2 '
What is the value of c if the roots of the equation
ax? + bx + ¢ = 0 (a # 0) are equal ?
ax> + bx +c-0ﬂﬁ1@‘1€'ﬂﬁ{ﬂ@tﬂﬁi’ﬁcaﬁm
ISEEE:
Under what condition, will the roots of thc quadratic

equation ax> + bx + ¢ = 0 be reciprocal ?
& 76 AATE ax? +bx+c-03ﬁﬁqﬁmtﬂﬁfﬁ
BIOR e 232

If x2 — 9 = 0 find the values of x.

3f x2 - 9 = 0 2, (9 x I TR Fefa =11

When are two triangles said to be similar ?

75! g cefoat e %9

In AABC, DE Il BC is drawn to intersect AB and AC at
D and E respectively so that AD = 1.5 cm, DB = 3cm
and AF = 1 cm find EC.

AABC © DE Il BC 1 2 91ts DE (i AB &% AC <
@03 D wii% E R® (= 31 AD = 1.5 cm, DB = 3cm
wi% AF = 1 cm ¥ EC i ==




(7)

38, State thales therem. (2712 Soi=ieo! fdl 1)
. Find the distance between the two points (a, b) and .
(—a, -b).
(a, b) SI% (—a, ~b) R 7B We4 qqG e 41|
CIf(x+1,2y-1)=(3, 5) find x and y.
T (x + 1, 2y —1) = (3, 5) (0% x % y T T f[efa
90|
. Find the midpoint of the line segment joining the points
A(xl, yl) and B(xz, yz).
Ax,, y,) T% B(x,, y,) &7 96! At e s
| e =
2. Find the. distance of the point (-3, —4) from the y axis.
By o ol (-3, 4) B Ay T
3. Find the value of sin?29" + cos*29°.
Sin%29° + cos?29° 7 wiw fAsf =41 |
4. Express the value of tan A in terms of sinA.
] tan AT TS sinAHWWﬂWl
5. Evaluate (31 < 741) %‘S%U
Section - C
Answer the following questions : (974 2#7aiaq Teq f772r) 2x8=16
. Factoﬁse'(@QWﬁm:ﬂ‘TW) Xy +1+x+y
/7. Show that 3 + 2|5 is irrational.
@& @ 3 + 25 weAfaem |
8. Show that any positve odd interger is of the form
4q + 1 or 4q + 3, where q is some integer.

P.T.O.
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49,

50.

51.

52.

53

54.

aﬁm4q+3wfiawqmmmamww|
Fmdﬂlequadmﬁcmlynomialwhosemam%arﬂ-z- |
B s <t Bef 1 T SRR T 5 S 2. ..
Solve (FTiyi 1) : i
2Xx+y-6=0,2x-y-2=0 .

Find the coordinates of the point which divides AB joining |

the points A(4, -3) and B(8, 5) in the ration 3 : 1 intemally. |
A(4, -3) &% B(8, 5) &g AT AB F 3 : 1 SANS®
suRee 4 RYoR TR [d #1

If sinA = -3—, calculate cos A and tanA.

I sinA:%—, (ST cosA Wi% tanA I 5 B i1

57.

If sin(A + B) = 1 and cos(A — B) =‘%‘ and A > B, find
A and B.
. 7f# sin(A + B) = 1 ®I% cos(A - B) =!@<sn¢A> B,
(OT% A Si% B 3 i A 41 k.
Section - D 3x7=2Ml
A fraction becomes —% when 1 is subtracted from the
numerator and it becomes %— when 8 is added to its ‘
. -denominator. Find the fraction.

3.

<1 SHe A =11 1 Rl FRE T 2l - A W g

234 T 8 Q1o R Al -, SAMCH! Fefr 4 ]
Solve the following pair of equation by reducing them to
a pair of liner equations.

5848
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©)

oo TR T CARE et AR FR

A 4 8

5 6
yfle _f-l

. Fmd the nature of the roots of the equation 3x* - 5x +

2 =0‘and find its roots.
3x2—'5x+2=0ﬁﬂ1@ﬂﬁﬂqtﬁﬁmaﬁﬁ°fﬂ

IwwmwﬁﬁeﬁxW|

. Find the consecutive odd posmve integers, sum of whose

squares is 290
@T:cﬁﬁwwm e Se et BfEed IR i
W 290.

. D is a point on the side BC of AABC such that

ZADC = ZBAC. Show tha CA” = CB.CD.
AABC ¥ BC 3= ¢*¥® D aot g W% LADC =
/BAC (7983l (1 CA” = CB.CD.

. Find the value of 'K’ for which the points (7,-2), (5, 1)

and (3, K) are collinear.
K 3 5 Shieat @ (7, -2), (5, 1) 9% (3, K) &
R IR |

 Prove that : (&¥l9 391 @)

'COSA + 1 +SlﬂA_ 2S€CA

- T¥sinA’ cosA

. Section - E
If two zeroes of the polynomial x*+x3-9x2-3x+18
arey3 and —(3, then find all the other zeroes.

4x2=8

P.T.O.




(10)
x4 x3-0x*-3x+18 FHIBIA 1o %3 T —3

R I @0 e =i
Or
Divide 3x%> - x> —3x+ 5 by x — 1 — x? and verify the
“:' division algorithm.
p x—l—xzﬁ3x2—x3—3x+5$ﬂqw€n$ﬁ€1w :
SRR oo T |

62. If a line divides any two sides of a triangle in the same
ratio, then prove that the line is parallel to the third side.
o qoiE R @B Rigee R 101 AR G0 S
Sl IR, (SR el T (@ G (RIeie oI e
S0 |

| Or

ABCD is a trapezium in which AB Il DC and its
diagonals intersect each other at the point O. Show that

AO_ CO

BO DO

ABCD (Gfifemia AB Il DC i 2811 4 qoie ATs
O e (2fe 28| (e @,

AO_ CO
BO DO

sk ok ok o o sl sk ok ok




